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The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Write very short answer/Fill in the blanks:
1x7=7

oy ©e fl/4em ol o3 0
(a) Who coined the term ‘ecosystem’?

T 0B (AifRfEfwa) *wTo! AT (I IR
IR ?
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(b) What is the status of bacteria in an

ecosystem ?

ot JRAS oFe @RI wER 2

(c) Presence of sunken stomata is

adaptation.
SferaeT |

(SITSTART #aTF T

(d) The energy pyramid is always

*ifes foifG T |

() Who is called the father of taxonomy ?

BEAR (2T SRR T T I I
R 2

() Which system of plant classification is

followed in Indian Herbaria?

RO RIS (Fifs Feeerm) R
(PIAG! *1Efe SpRd 741 2
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2.

(g What is taxon?

i CRIC R
Answer the following : 2%x4=8
were fra s Tes ¢
(a) What do you mean by ecological
pyramid ?
IRRfs Pafic @ & e
(b) What is detritus food chain?
o A 3 2
(c) Write the importance of ‘Botanical
Gardens’.
TR ST oFes R Frn
(d) Mention the various groups or units of
classification in hierarchical order.
TR AR oiff 3 3 RS i
SEPTR S
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3.

Answer any three of the following :
5x3=15

wee fAArTRI R fofbe ©es i ¢

(a) Describe the adaptations of xerophytic

plants.

e Ofeve wfSratem g 3 34

(b) Describe the role of nitrogen cycle in

an ecosystem.

<51 #ARIRS ©ue NZG (oW bR Bl 31 |

(c) Discuss the role of palynology in plant
taxonomy.

gaeTRE Ofgw Reime IR it T
ST |

(d) Describe the various stages of ‘xero-

sere’,

“TCANT Rfen 91 Mg 3 71
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(e) Give a comparative account of natural
system and phylogenetic system of
classification.

T 2FfoT AT TIRFER s Temie
e @t wife =t

Write briefly the influence of climatic factors

on the growth and development of plant.
10

Tfgwe 3 S R dorifTe =i Terig Il
R vats faah
Or / M3t

Define ecosystem. Discuss the different

pathways of energy flow in an ecosystem.
1+9=10

R o e fa ) ot AR oge e s
aifSoie Tza KA Seems 1

Define succession. Describe the various

stages of succession in nature. 2+8=10

5 ' Contd.



T 31 e (BRI Wit {2 Rfew awiee

e el fual | apfoe wufte SR Ries
W I R 9 1 TP A ol (DR W TR ARREIS T e
' TR B oA |
or/ 73t

What are the principles of Engler and Prantl
system of classification ? Write the merits
and demerits of this system. 5+5=10

KA T AF5e (TR 2&es fifemg & [e
R HI (M1 F STRs Raca fora |

6. Give an account of the outline of Bentham

and Hooker’s system of classification.
10

@I GIF TR PN wed dfb 3T Rewdl
wife &l
or [ #33

What is typification ? Discuss briefly about
the various ‘type’ and their role in plant
nomenclature. 2+8=10
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